EMU at Lancaster Aviation Fees 2024-25 Rates

*Base Prices calculated at Median Flight Hours and Fluctuating fuel costs. Flight Fees consist of Flight Time, Instructor Time, and Simulator Time and will be audited each term. *Students needing more than Median Hours to complete certification will be able to roll remaining hours into the next course. Additional fuel surcharge may apply.

AVFO120 and AVFO121 Private Ground and Private Pilot Flight Certification (FAR141)

		Flight Fees		
FAA Part 141 Minimum Flight Hours	Training Activity	EMU Average Hours	Hourly Rate	Deposit Required
	Solo Flight	6	\$240.00	\$1,440.00
25	Dual Flight	46	\$320.00	\$14,720.00
35	Flight Training Device (FTD) Instruction	1	\$179.00	\$179.00
	Pre- and Post- Flight Ground Instruction	44	\$80.00	\$3,520.00
	TOTAL FLIGHT FEES			\$19,859.00
	Mate	rial and Evaluation Fees		
	Item			Billed Amount
	Private Pilot Ground Kit			\$385.00
	Private ACS Standards Book	Digital copy in ground	school	\$11.00
	Private Pilot Oral Exam Guide	Digital copy in ground	school	\$20.00
	FAR/AIM			\$30.00
	Foggles			\$20.00
	Progress Checks			\$1,120.00
	TOTAL MATERIAL AND EVALUATION FEES			\$1,586.00

Out-of-Pocket Fees			
Item	Estimated Cost		
Headset (see ATS for purchase options)	\$600.00		
Renter's Insurance	\$425.00		
2nd Class Medical Exam	\$150.00		
Test Prep Materials (Sheppard, ASA, Dauntless)	\$45.00		
Written Exam	\$175.00		
Sectional Charts	\$30.00		
Flight Checkride Fee	\$800.00		
TOTAL OUT-OF-POCKET FEES	\$2,225.00		

AVFO220 and AVFO221 Instrument Ground and Instrument Flight Rating (FAR141)

Flight Fees

FAA Part 141 Minimum Flight Hours	Training Activity	EMU Average Hours	Hourly Rate	Deposit Required
	Dual Flight	36	\$320.00	\$11,520.00
35	FTD Instruction	14	\$179.00	\$2,506.00
33	Pre- and Post- Flight Ground Instruction	23	\$80.00	\$1,840.00
	TOTAL FLIGHT FEES			\$15,866.00
	Material a	nd Evaluation Fees		
	Item			Billed Amount

	Instrument Ground Kit			\$385.00
	Instrument Oral Exam Guide	Digital copy in ground s	chool	\$20.00
	Instrument ACS Standards Book	Digital copy in ground s	chool	\$11.00
	Progress Checks			\$1,120.00
	TOTAL MATERIAL AND EVALUATION FEES			\$1,536.00
	Ou	t-of-Pocket Fees		
	Item			Estimated Cost
	Test Prep materials (Sheppard, ASA, Dauntless)			\$45.00
	Written Exam			\$175.00
	Flight Checkride Fee			\$800.00
	TOTAL OUT-OF-POCKET FEES			\$1,020.00
		2/323 Commercial Grour Flight Certification (FAF		
		Flight Certification (FAF		
FAA Part 141 Minimum Flight Hours		Flight Certification (FAF		Deposit Required
Minimum	Commercial Pilot	Flight Certification (FAF Flight Fees EMU Average	R141)	
Minimum Flight Hours	Commercial Pilot Training Activity	Flight Certification (FAF Flight Fees EMU Average Hours: Estimate	Hourly Rate	\$15,600.00
Minimum	Training Activity Solo Flight	Flight Certification (FAF Flight Fees EMU Average Hours: Estimate	Hourly Rate \$240.00	\$15,600.00 \$16,000.00
Minimum Flight Hours	Training Activity Solo Flight Dual Flight	Flight Certification (FAF Flight Fees EMU Average Hours: Estimate	Hourly Rate \$240.00 \$320.00	\$15,600.00 \$16,000.00 \$1,253.00
Minimum Flight Hours	Training Activity Solo Flight Dual Flight FTD Instruction	Flight Certification (FAF Flight Fees EMU Average Hours: Estimate 65 50 7	Hourly Rate \$240.00 \$320.00 \$179.00	\$15,600.00 \$16,000.00 \$1,253.00 \$2,880.00
Minimum Flight Hours	Training Activity Solo Flight Dual Flight FTD Instruction Pre- and Post- Flight Ground Instruction TOTAL FLIGHT FEES	Flight Certification (FAF Flight Fees EMU Average Hours: Estimate 65 50 7	Hourly Rate \$240.00 \$320.00 \$179.00	\$15,600.00 \$16,000.00 \$1,253.00 \$2,880.00
Minimum Flight Hours	Training Activity Solo Flight Dual Flight FTD Instruction Pre- and Post- Flight Ground Instruction TOTAL FLIGHT FEES	Flight Certification (FAF Flight Fees EMU Average Hours: Estimate 65 50 7 36	Hourly Rate \$240.00 \$320.00 \$179.00	\$15,600.00 \$16,000.00 \$1,253.00 \$2,880.00 \$35,733.00

	Commercial Oral Exam Guide			\$20.00
	Commercial Gleim Kit			\$375.00
	FAR/AIM			\$30.00
	Progress Checks			\$840.00
	TOTAL MATERIAL AND EVALUATION FEES			\$1,276.00
	Ou	ut-of-Pocket Fees		
	Item			Estimated Cost
	Renter's Insurance			\$425.00
	Test Prep materials (Sheppard, ASA, Dauntless)			\$45.00
	Written Exam			\$175.00
	Flight Checkride Fee			\$800.00
	TOTAL OUT-OF-POCKET FEES			\$1,445.00
		121 Flicht Instructor Cus		
		421 Flight Instructor Gro		
Minimum		r Flight Certification (FA		Deposit Required
Minimum	Flight Instructo	r Flight Certification (FA Flight Fees EMU Average	R61)	•
	Training Activity	Flight Certification (FA Flight Fees EMU Average Hours: Estimate	R61) Hourly Rate	\$5,440.00
Minimum N/A	Training Activity Dual Flight: C-172	Flight Certification (FA Flight Fees EMU Average Hours: Estimate	R61) Hourly Rate \$320.00	\$5,440.00 \$960.00
	Training Activity Dual Flight: C-172 Spin Certification	Flight Certification (FA Flight Fees EMU Average Hours: Estimate 17 3	R61) Hourly Rate \$320.00 \$320.00	\$5,440.00 \$960.00
	Training Activity Dual Flight: C-172 Spin Certification Pre- and Post- Flight Ground Instruction TOTAL FLIGHT FEES	Flight Certification (FA Flight Fees EMU Average Hours: Estimate 17 3	R61) Hourly Rate \$320.00 \$320.00	\$5,440.00 \$960.00 \$2,240.00
	Training Activity Dual Flight: C-172 Spin Certification Pre- and Post- Flight Ground Instruction TOTAL FLIGHT FEES	Flight Certification (FA Flight Fees EMU Average Hours: Estimate 17 3 28	R61) Hourly Rate \$320.00 \$320.00	\$5,440.00 \$960.00 \$2,240.00
	Training Activity Dual Flight: C-172 Spin Certification Pre- and Post- Flight Ground Instruction TOTAL FLIGHT FEES Materia	Flight Certification (FA Flight Fees EMU Average Hours: Estimate 17 3 28	R61) Hourly Rate \$320.00 \$320.00	\$5,440.00 \$960.00 \$2,240.00 \$8,640.00

	Airplane Flying Handbook			\$25.00
	CFI Oral Exam Guide			\$20.00
	CFI PTS Standards Book			\$7.00
	Pilot's Manual Vol. 2 GS			\$65.00
	FAR/AIM			\$30.00
	TOTAL MATERIAL AND EVALUATION FEES			\$192.00
	C	Out-of-Pocket Fees		
	Item			Estimated Cost
	ASA Test Prep Bundle			\$65.00
	Renter's Insurance			\$425.00
	Written Exams (2)			\$350.00
	Flight Checkride Fee			\$1,200.00
	TOTAL OUT-OF-POCKET FEES			\$2,040.00
	AVFO 340 Multion	engine/Professional Oper	ations	
	AVFO 340 Multion	engine/Professional Oper Flight Fees	rations	
FAA Part 61	AVFO 340 Multion	Flight Fees	rations	
FAA Part 61 Minimum Flight Hours	AVFO 340 Multion		Tations Hourly Rate	Deposit Required
Minimum		Flight Fees EMU Average		•
Minimum	Training Activity	Flight Fees EMU Average Hours: Estimate	Hourly Rate	\$5,950.00
Minimum	Training Activity Grumman Cougar Rental	Flight Fees EMU Average Hours: Estimate	Hourly Rate \$425.00	\$5,950.00 \$1,760.00
Minimum	Training Activity Grumman Cougar Rental Instructor Time - Ground & Flight TOTAL FLIGHT FEES	Flight Fees EMU Average Hours: Estimate	Hourly Rate \$425.00	\$5,950.00
Minimum	Training Activity Grumman Cougar Rental Instructor Time - Ground & Flight TOTAL FLIGHT FEES	Flight Fees EMU Average Hours: Estimate 14 22	Hourly Rate \$425.00	\$5,950.00 \$1,760.00
Minimum	Training Activity Grumman Cougar Rental Instructor Time - Ground & Flight TOTAL FLIGHT FEES Mater	Flight Fees EMU Average Hours: Estimate 14 22	Hourly Rate \$425.00	\$5,950.00 \$1,760.00 \$7,710.00

	Multiengine Oral Exam Guide			\$20.0
	TOTAL MATERIAL AND EVALUATION FEES			\$114.0
		Out-of-Pocket Fees		
	Item			Estimated Cost
	Flight Checkride Fee			\$800.0
	TOTAL OUT-OF-POCKET FEES			\$800.0
	AVFO 400 S Comm	nercial Advanced Aviation	Subjects	
		Flight Fees		
FAA Part 61 Minimum Flight Hours	Training Activity	EMU Average Hours: Estimate	Hourly Rate	Deposit Required
	C-172 rental	4	\$240.00	\$960.0
	Instructor Time - Ground & Flight	6	\$80.00	\$480.0
	TOTAL FLIGHT FEES			\$1,440.0
	AVFO 401 S Ai	r Transport Advanced Sub	ojects	
		Flight Fees		
FAA Part 61 Minimum Flight Hours	Training Activity	EMU Average Hours: Estimate	Hourly Rate	Deposit Required
	Flight Safety Level D sim experience			\$1,245.0
	TOTAL FLIGHT FEES			\$1,245.0